Solution of the day/ August 30, 2019
6" Class

Mathematics: Ans : (B)

4xy  4Ax(-2)x(-6)
z 4 B
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Physics: Ans: (C)
Chemistry: Ans: (A)
Biology: Ans: (C)

7" Class

Mathematics : Ans: (B)

Al ~
L N
Ratio of number of squares to all the figures=2:7
Physics: Ans: (B)
Chemistry: Ans: (B)
Biology: Ans: (B)

8" class
Mathematics: Ans: (B)

18 buckets hold 1728 glasses of water, so 1 bucket can hold % =96 glasses of water.

1344 1344

= 14
No.of glasses of water in one bucket 96

Required buckets for 1344 glasses =

Physics: Ans: (A)

Chemistry: Ans: (A)
Biology: Ans: (A)
9™ Class

Mathematics : Ans: (B)

Highest number =35

Smallest number = x

Range = Highest number — Smallest number
35-x=23

x =12
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Physics: Ans : (B)
Chemistry: Ans: (B)

Biology: Ans: (C)

10" class
Mathematics: Ans : (D)
Physics: Ans: (A)
Chemistry: Ans: (D)
Biology: Ans: (B)
Reasoning : Ans: (D)



